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EWH< Bea HKEL BABE HLKEW N 137

RKET BOREE TOFEENFELT WET, =

At the university, a male student and a female student are talking together.

Bz H<KEL TAEW

0 BOPER KD ES LT Bok & ST WETH, =
Accordlng to the male student, why did the teacher get angry’?

*

#&X o fc = got angry = <plain-style-past-affirmative> of %X R0 ET g1 (get angry)

»&. =Ah, Alas, /

%ﬂé% teacher + Z <direct-object particle> /

,ubt“g ¥ o fc = To one’s regret, (X) made (Y) get angry ; (X) angered (Y) = <plain-style-past-
affirmative> of &5 5 » L X T which is the same as S5 T ULEWHT (To one’s regret,

(X) make (Y) get angry ; (X) anger (Y))
* 5 F 9 = make (a person) angry, anger (a person) = causative-verb of 2D £3 g1 (get

angry)
* [te-form] U EWEJ g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely * ~ te

shimaimasu — ~chaimasu*~de shimaimasu— ~jaimasu/

#H 12\ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective] da’ and
‘[noun] da’ must be omitted.)] &7cL\T 9’ = (According my academic analysis, ) it looks like that
~/

7% A TZ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {{na-adjective / noun] da’

becomes ‘na’.)] L T9'=...... , l wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. /

& =...., you know? ; ..... | tell you. ; ..... , | am convinced. /

o =....,isntit?; ....., am | right? <confirmation particle> //

Ah, it looks like that | made my teacher (professor) get angry, you know?

ZF
> fc = | am in difficulties, | am in trouble. = <plain-style-past-affirmative> of KD ¥9 g1 (to

be troubled, to be worried, to be bothered, to be embarrassed, to be stumped)
7%, = <indicates emotion or emphasis> //

1/46



I;_\ = What? Really? (used to express surprise) /

E> =how/

U 7 = did = <plain-style-past-affirmative> of L &9 g3 (do) /

@D = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’

becomes ‘na’.)] AL T9'=...... , | wonder ; ...... , | doubt ; ....., I want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. /
21

Really? What happened, | wonder?

LW = no, nay, yes, well /

Zh B = well yes, actually, now that you mention it, well, in fact /

R, =..,isntit?; ..... , am | right? <confirmation particle> /

%&MLC = by one’s teacher /

%ihﬁ: = was asked to do ~ = <plain-style-past-affirmative> of %ihi? (be asked to do)
which is the passive-verb of #8J+ 9 g1 (ask to do ~) /

Eé%;lijl = material /

— the material which | was asked (to prepare) by my teacher /

E’FQEDI X TIC = by yesterday /

%é@ <B v WFEhH - fc = <plain-style> of b/ < 5 » WIFEEA TUT =hadto pass
over (hand over)

* % L £9 g1 = pass over, hand over

* Y¢ must do, have to do

[nai-form 72U — R IFTNIE] D XEA

[nai-form 7R WL\ = IR ITNIE] WIFTREBA

[nai-form &L\ = IR B | 2D FEA

[nai-form &L = IR B | WIFEREA

[nai-form 7&LN > RE P RD XEA

[nai-form 7&WLN = RE ] WIFTXEA
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trai-form & £ 4 4
[nai-form 7&W\] & WIFEXRBA

A T2 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] A TY ' =...... , | wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. /
[7E. =1but 2 <used to show a hesitation> /

W5 W5 = various /

Ho>T=db>ofce LT, =hadand ..., ; there was ~ and ....., ; existed and .....

* 8 o fc = had, there was ~, existed = <plain-style-past-affirmative> of % D £9 g1 (there is
~, have, exist) /

%t#ti T = BE®ABMN>Tce £LT. =couldn’t pass over and .....

*JEE 74 h o f2 = couldn’t pass over = <plain-style-past-negative> of JE £ 9 (can pass over,
be able to pass over) which is the potential-verb of J& L &9 g1 (pass over, hand over)

* [nai-form &L\ — 72 < T] = A [nai-form 2L\ — 9 (IZ)] = don’t do ~ and .... <used to join
sentences>/ don’t do ~ and therefore <used to show a reason>

Y LIEWT =879 (I2), not LT (I2)

* [nai-form 7R L\ — 7R WT] = O [nai-form 7R L\ — 9 (IZ)] = without doing ~

Y ULBRWT =t7 (I2), not LT (1) //

Well, in fact, | had to hand the material which | was asked to prepare by my teacher to him by
yesterday, but many things happened and | couldn’t hand it to him and .....

Z—. = Ehh! (expression of surprise) /

%<1 7T = because of that /

B5nNnsL» oz =To one’s regret, (X) was scolded = <plain-style-past-affirmative> of X511 5
» L X J which is the same as 5T ULZXUWZET (To one’s regret, (X) is regret)

* SN E T =be scolded = passive-verb of &% D £3 g1 (get angry, anger, make angry)

* [te-form] L EWLWEF g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely * ~ te
shimaimasu — ~chaimasu*~de shimaimasu— ~jaimasu/

@D = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’

becomes ‘na’.)] A TY ' =...... , | wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. /
/i

Ehh! Because of that, were you scolded by him, | wonder?
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Sh. =Yes,/

L\, =No,

Z 1 T = because of that /

%5 7z = was scolded = <plain-style-past-affirmative> of #X D 3 g1 (get angry, anger, make

angry) /

2T WD &£D, =& WD £D. =ratherthan ~ (N2 No0.94)/

a"a & &\, =the day before yesterday /

1%%2035 &. = after the lesson /

é)’)(o"%%b“ = drinking party (get-together) + A% <subject particle> /

Ho>T=ob>ofce LT, =there was ~ and ....

* 8 o fc = there was ~ = <plain-style-past-affirmative> of & D 3 g1 (there is ~, have, exist)
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
o =....,isn’tit? ; ....., am | right? <confirmation particle> /

Yes, well, no, rather than | was scolded by him because of that, there was the drinking party
after the lesson the day before yesterday and ....(I want to confirm it with you.)

C. =and, then/

DL\ = unintentionally, unconsciously, by mistake, against one's better judgement /

Zh% =that + Z <direct- object particle> /

Fo(obveofc=HF>7T j_o 5 ¥ 5 fz = To one’s regret, (X) took ~ (to the place) = <plain-
style-past-affirmative> of > T T > 5 » \\EX 9 whichisthe same as > T T>oCT LEWX
9 (To one’s regret, (X) take ~ (to the place))

*#Fo T T £ g1 =take ~ (to the place)

* [te-form] L E WX J g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely * ~ te
shimaimasu — ~chaimasu*~de shimaimasu— ~jaimasu/

* 12 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] A TY ' =...... , | wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. /
[7E. =1but 2 <used to show a hesitation> /

8P TET, = Bidr T F. ZLT. = drank too much and ....

* B+ 9 =7 = drank too much = <plain-style-past-affirmative> of i+ 3= £ 9 sg2 (drink too
much)
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* [masu-form / stem of i-adjective / stem of na-adjective] & £ 9 sg2 = do ~ too much, too
[adjective] /

4%5 »o>TC. =B5vofce LT, =Toone’s regret, (X) slept and .....

*BEv ol =T UX o7z =Toone’s regret, (X) slept = <plain-style-past-affirmative> of £ T
L EXWXT (To one’s regret, (X) sleep)

* [te-form] UL EWE I g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely * ~ te
shimaimasu — ~chaimasu*~de shimaimasu— ~jaimasu/

%h'( =5 v o> fc =To one’s regret, (X) left (it there) = <plain-style-past-affirmative> of ‘511 T
=5 » WX T which is the same as 1T 2T UXUWEX T (To one’s regret, (X) left (it there))
*ENT %i@“ g3 = leave (~ there), forget ~ and come

* [te-form] U E WEXJ g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely * ~ te
shimaimasu— ~chaimasu*~de shimaimasu— ~jaimasu/

Z = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {{na-adjective / noun] da’

becomes ‘na’.)] L TY ' =...... , l wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... ) |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. //

& =...., you know? ; ..... | tell you. ; ..... , | am convinced. /

o =....,isntit? ; ....., am | right? <confirmation particle> /

Then, | took it to the place against my better judgement, and to my regret, | drank too much,
slept and left it there, you know?

;? = What? Really? (used to express surprise) /

U . =if thatis the case, then / \

72 < LB o fc =to one’s regret, (X) lost = <plain-style-past-affirmative> of 5& CULB»WXT
which is the same as < UT UE WX (To one’s regret, (X) lose)

*K<UET gl =lose

* [te-form] L E WX 9 g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely * ~ te
shimaimasu — ~chaimasu*~de shimaimasu— ~jaimasu/

1o lF =the thing happen like that, conclusion from reasoning, judgement or calculation based on

something read or heard (N2 No.111B) /
2

What? Did you lose it? This is my conclusion.
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W, =No/
< < =
H T (& E7c = BT &7z = came out = <plain-style-past-affirmative> of tH T £ 9 g3 (come

out, appear, turn up, emerge)
* T [& =< =it came out, but another bad thing happened as well /

A T2 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {na-adjective / noun] da’
becomes ‘na’.)] L T9'=...... , | wonder ; ...... , | doubt ; ....., | want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. //
[7E. =1but 2 <used to show a hesitation> /

. =...,isntit?;....., am | right? <confirmation particle> /

S Ao =Yyes, yeah, uh huh //

No, (I didn’t lose it.) It was found, but .... (I want to confirm it with you.) ..... yeah....

BAEW

SeHEHY. =teacher + H' <subject particle> /

BRAT=why/

TR 9(%78: ém% = such an important material + % <direct-object particle> /

é‘j’lé’%% & AN IT = the drinking party or the trivial thing like that (N2 No.61B) + [C <arrival

particle>
*(X) I&AD™ =1 (X) or something <used to make the expression soft by giving an example> 2

(X) or the trivial thing like that <used to slight the thlng>/
> T < = <plain-style-nonpast-affirmative> of ﬁ >7< 17% £ 9 g1 = take (the thing to the

place) /
A T2 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {{na-adjective / noun] da’

becomes ‘na’.)] L T9'=...... , | wonder ; ...... , | doubt ; ....., I want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. /
2T, = & <quotation particle>* - T at the end of the sentence is often used to mean, ‘| hear
that ~, | heard that ~’, “They say that ~, People say that ~’, (X) say that ~’. //

My teacher said, ‘Why did you take such an important material to the drinking party (or the trivial
thing like that), | wonder?’

. =you might say /
% D » %S = <plain-style-nonpast-affirmative> of D » #5T9 = ZNl& £5TY =Thatis

right. ; That is correct. /
& =...., you know? ; ..... | tell you. ; ....., | am convinced. /

o =....,isn’tit? ; ....., am | right? <confirmation particle> /
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You might say, it is right, you know? (I want to confirm it with you.)

—

EX28e) Ub &
REA & Tlc &7 4%5 Fé@b\o f= Hh 5 = because (this male student) didn’t pass (hand) the

material (to the teacher) by yesterday
* E I 72H o fo = didn’t pass over (hand over) = <plain-style-past-negative> of JE L £ 9 g1

(pass over, hand over) /

2
o Hn

2] 1
MHART BRAHTETET ULE o7 H5 =because (this male student) drank too mach at the

drinking party and slept
*BH TETC=MRH#I o £ULT. =drank too much and ...

* BR# 9 E fo = drank too much = <plain-style-past-affirmative> of B 9" E & 9 sg2 (drink too

much)
* [masu-form / stem of i-adjective / stem of na-adjective] 9= £ 9 sg2 = do ~ too much, too

[adjective]
e
*B2 T ULE o7 =Toone’s regret, (X) slept = <plain-style-past-affirmative> of BT UEWET =

To one’s regret, (X) sleep)
*$EF 9 g2 =sleep, go to bed

* [te-form] L EWLWEX 9 g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely * ~ te
shimaimasu — ~chaimasu*~de shimaimasu— ~jaimasu/

3

D MLy

Lb&> £5) W
MAH=IC ERlE > T 1To 7 H5 =because (this male student) took the material to the

drinking party
* 5T 17> 7= =too (it to the place) = <plain-style-past-affirmative> of > T T X9 g1

(take (the thing to the place)) /

ch

,éﬁ%i 9&& LT LE-o7 h5 =because (this male student) lost the material

* &< LT UE o7z =To one’s regret, (X) lost = <plain-style-past-affirmative> of K< LT U X
LWZE 9 (To one’s regret, (X) lose)

*K<UET gl =lose

* [te-form] UL EWZEJ g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely * ~ te
shimaimasu — ~chaimasu*~de shimaimasu— ~jaimasu/
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MhEL th (373

FTLET TV —¢& ﬁ**"‘?b\ INZTy N IR— L‘,’JL\’C FHLUTWEY, =OnTV, the
announcer and the coach are talking about the basketball player.

hhe<
* BEE = supervision; superintendent, supervisor; manager

3 Zh MW Bh
-

TAL
ZDEFD 5D REIF A TIT D = What is the task of this player hereafter?

MW
* 227 = subject, theme, topic; task

%:;E\ = coach /

gil_\ = recently, lately /

%Hﬁ 5 LW 7L —% =wonderful play + %Z <direct-object particle>

* %IE 5 U LY = wonderful, splendid, magnificent, amazing, marvelous, marvelous, phenomenal,
awesome, astonishing, startling, fine, excellent, superb, prime /

%Je“‘c L% = <plain-style-nonpast-affirmative> of R & 7T L\& 9" = be showing now
*BE¥ XTI sg2 = show

* [te-form] LWEXJ" =1 be doing now 2 <situation, state> 3 <habitual repeated action>/
%tid) lﬁﬂ%%gfﬁ“ = (X) is Yamada who is a player and a young person /

A%, =1but 2 <used to show a hesitation>

Z 033%?% = this condition /

%&% U. =#FLT, =#FLEI, £LT. =maintain and ....

* #£55 U £ 9 g3 = maintain, sustain, keep in existence /

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more

formal.
Zh
5. = from now on, from this day forwards, from this point on, hereafter, henceforth,

henceforward /
%ifg = more and more, increasingly, to a larger and larger degree /
%E‘?é@“% fc®IC (&, =in order to perform noticeably + (& <topic particle>
* SEHET % = <plain-style-nonpast-affirmative> of J&#E L £ 3 g3 = play an active part, act

remarkably, perform noticeably

* [plain-style (but, ‘da’ of ‘[na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ becomes ‘no’.)]
fc®IC =1 because ~, die to ~ <cause, reason> 2 in order to do ~, for (the benefit of) ~
<purpose>/

ﬂ?b\ = what + H' <subject particle> /

02&5

NVETU & DH% =more polite than HE T H =is (X) necessary?
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*TU & DH =|[plain-style (but, ‘da’in [na-adjective / noun] da’ must be omitted.)] TU & > M

is more polite than the question which ends the normal polite-style, and is often used when you
question your superior.
*Actually TU & 3 means ‘1 Probably ....... 2 e , right? //

Coach, regarding Mr Yamada (a player and a young person) who are showing a wonderful play
(performance) recently, what is necessary for him in order to maintain this condition and perform
noticeably more more hereafter?

#’ih

I T9 H =Yamada?/

%23 T9 1 =1Let methink. ; Let me see. 2 That’s right. ; | agree with you. /

LHWVWHh WL

AEHBENS %41‘7 % = from the beginning of the game to the end /

% D %T,H bh% <plain-style-nonpast-affirmative> of % D uuH 511%E 9 = can continue to run
* [masu-form] ‘bbb“i"é’ g1 = continue to do ~

* el bhi@“ = the potential-verb (can continue, be able to continue) or the passive-verb (be
continued) of ‘mb‘iﬁ“ g1 (continue) /

T?ﬁibfj<= physical strength (stamina) /

— the physical strength that (X) can continue to run from the beginning of the game to the end /
|& <topic particle> /

9 TIT = already /

N 795 XTY =top class /

o =....,isN'tit? ; ....., am | right? <confirmation particle> //

His physical strength that he can run from the beginning of the game to the end is already a top
class.

F/c =and also /

?ZE%\ = body + H' <subject particle> /

ZEM<. =BEN T, =RENNTT, ZLT. =(X)is softand ...

* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another

sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call them
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te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, [stem of i-adjective] < ’is also used to be more

formal. /
&1 = spring, metal coil /

H =also/
HHD. =H>T. =HDEI, £ULT. =have (there is ~, exist) and .....

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal.

’I%:ﬁ/i = injury, hurt, wound /

H=also/

E‘@Z WTY9 L. =(X)is afew (not many), and what’s more ....

* L. =[plain-style] L. =~ and ~, because ~, ~ and what’t more ~, not only ~ but also ~
<often used to list reasons> Y¢ We can use the polite-style right before L to be more polite.
M—JL% =ball + % <direct-object particle> /

HoM HoOM
&> = <plain-style-nonpast-affirmative> of #x\L\E 9 g1 = handle, deal with, treat /

ElwD

F 41 = skill, technique, technology, art /

— the skill of handling with a ball /

H =also

([Fh ‘\E*a/ézlﬂd)

fttd EF K D = than other players /

9 > & =1 consecutively, throughout, all the way, all the time 2 much [adjective] /
A T

REAHT WET, =be excelling now

* 1R E A F T g2 = excel, be outstanding, be talented, surpass

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

And his body is soft (flexible) and he has a spring (he can jump high) and his injuries are a few
(he seldom injures) and what’s more his skill of handling with a ball is also much superior to
other players.

Fd. =you might say /

Bléb\T = by force, powerfully, forcefully, coercively /

%H‘% & 9% & =suppose that (X) give an example /

* %b“% = <plain-style-nonpast-affirmative> of %H‘i@' g2 = fly; raise; give an example
*[plain-style] & 9% &/ & ULIcs /& 1S = suppose that ~ (N2 No.142A)

UHWnsEw>
A& IC = in the middle of the game /
H W T 5&3EFD

B D BKFIC = opponent’s provocation (stirring up, arousal)
* 83 = 1 companion, partner, company 2 other party, addressee 3 opponent (sports, etc.) /
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% > T ULERW A5 = <plain-style-nonpast-affirmative> of % 2T ULEWHANETY =Toone’s
regret, (X) often board

* % N %9 g1 = board, ride, get on, mount

* [te-form] L EWLEJ g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely * ~ te
shimaimasu — ~chaimasu*~de shimaimasu— ~jaimasu/

* [masu-form] 1’5 T3 = there are many times when (X) do, (X) often do ~, be easy to do ~
(N2 No.53) /

ANy}

DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M C = because ~ /
ﬁ\because (X) often challenge his opponent’s provocation,

ézﬁg%’: = oneself + Z <direct-object particle> /

dvhbA—=)LL, =3 bA—=)ILLT, =3 ~A—=JLULEXT, #ULT. =controland ....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well.

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /

2h

T = always, usually, constantly /

F) e

EEBEWC=K58EF9, €L T, =camdown and ...

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. s
TL—TZ&3 &DIC a5 = <plain-style-nonpast-affirmative> of SIN—TE D LD I BN X

9 = can reach the point where (X) can play

* 7L —T& % = <plain-style-nonpast-affirmative> of 7L —TZ 9 (can play, be able to play)
which is the potential-verb of 7L — U £ 39 g3 (play)

* [dictionary-form] & 5 IC 7&11F 9 = can reach the point where (X) can do ~ = potential-verb of
‘[dictionary-form] & 3 IC %D 3’ (reach the point where (X) do ~, (X) come to do ~ /

HY <question particle> /

Y <subject particle> /

ME [T 723 = <plain-style-nonpast-affirmative> of & [C 72D £ 9 g1 = become a key /

TU & 2 =[plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] TLU & 2> =1

Probably ....... y 2 , right? /
o =....,isntit? ; ....., am | right? <confirmation particle> /

You might say, suppose that | give an example forcefully, because he often challenges his

opponent’s provocation in the middle of the game, probably the fact that he can reach the point

where he can control himself, calm down and play will become the key point. &
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AYIF % ?iljéjé % Z & =to make his (this player’s) stamina elevate

* [ k&% = <plain-style-nonpast-affirmative> of [_E & £ 9 = make ~ elevate =
causative-verb of [@_E U £ 9 g3 (elevate, raise; improve; advance, progress)

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

M5 U SBAEL feh

KD FEHE%E 56D I & =make his body’s flexibility (compatibility, pliability, softness,

elasticity) elevate
* B % = <plain-style-nonpast-affirmative> of = X 9 g2 = exalt, elevate, raise, lift

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

3
HHY
T vy % BEL Z & =toimprove his technique
* & < = <plain-style-nonpast-affirmative> of = £ 9" g1 = polish, shine, brush, refine, improve
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

4

nutn L&5U '71':35

AR E R
ordinarily/
* R D = <plain-style-nonpast-affirmative> of ff 5 £ 9 g1 = keep, preserve, hold, retain,

D Z & =to maintain his calmness (composure, coolness) always (usually,

maintain
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

MWL BrRx V& BEZ V& 1373

ST LIDOANE BEOANFELT WET, =Atthe company, the man and the woman are
talking together. /

[oF< W& RIT LAlEn

BOANE S, AN DR & E-5T WEThH = According the man, what is a worry? (what is
orrying about?)

>
®
=

5WFD

B M S =from next month /
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LTh LThB&
INUXED X5 = the manager of a branch office of the branch office (store) in Paris /

[y
73 % = <plain-style-nonpast-affirmative> of 7& D £3 g1 = become /

Ji

AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =...... N

wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... , | really
want to say so ; because ...... — A can be changed to @. /

> T = & <quotation particle> * - T at the end of the sentence is often used to mean, ‘I hear
that ~, | heard that ~’, ‘They say that ~, People say that ~’, ‘(X) say that ~’. /
2

| hear that you become the manager of a branch office of the branch office in Paris, am | right?

M:
&b. HOHE S, =0h, thank you. //

(AN

LIEIH S = from before /

%f’)}’@ﬁ% = overseas assignment

* Ep%5 = work, duty, service /

%gtz’% LT 72 = HE LT LWz = was hoping = <plain-style-past-affirmative> of #F22 LT W& T =

be hoping now
* ZHE L £9 g3 = hope, wish, anticipate, expect

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

AT = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {{na-adjective / noun] da’
becomes ‘na’.)] L T9'=...... ,  wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., |
want to emphasize ; ..... , | really want to say so ; because ...... — A, can be changed to @. //

| have hoped for an overseas assignment from before. | really want to say so.

F:
HH. DTIH, =0h, | see. Oh, is that so? //

M:

fcfee =but/

H\K, ES

#+% £% =both | and my wife /
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N |E = Paris + (& <topic particle> /

(=qV]

HHT T=PHT 2, FLT. =(X)is the first time and .....

* [na-adjective, noun] 7 = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] T9’ =is

(are, am)
* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another

sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] T’ is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < 7T’, [stem of i-adjective] < ’is also used to be more

formal. /
o =....,isntit?; ....., am | right? <confirmation particle> /

But, both | and my wife go to Paris for the first time and ....(I am worrying. | want to confirm it
with you)

[C |E= over there + [C <existence particle> + (& <topic particle>

iu|
4
A Ji

> = beyond, over there, opposite direction, the other party /

Pt

9

1D &\ = acquaintance /

H =also/

LV/R LY = there is not ~, don’t have = <plain-style-nonpast-negative> of \L\& 9™ sg2 (there is ~,

have, exist, stay) /
U. =|[plain-style] L. =~ and ~, because ~, ~ and what’t more ~, not only ~ but also ~

<often used to list reasons> ¥¢ We can use the polite-style right before L to be more polite. /
%Li = my wife + (& <topic particle> /

77 ‘/7\5% = French /

T ZE 72\ = cannot do = <plain-style-nonpast-negative> of T& £ 3 sg2 (1 can do, be able to do

2 be ready, be completed, be finished) /
Uo =|[plain-style] L. =~ and ~, because ~, ~ and what’t more ~, not only ~ but also ~

<often used to list reasons> Y¢ We can use the polite-style right before U to be more polite. //

| don’t have any acquaintance over there and what’s more my wife cannot speak French, so ....

Z®D Z & H =that thing + H' <subject particle> /

3P e

XA D BT =M D TE 2, #ULT. =(X)is a cause of annoyance (a problem) and ....

* [na-adjective, noun] 7Z = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] T9’ =is

(are, am)
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* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] T’ is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, [stem of i-adjective] < ’is also used to be more

formal. /
o =....,isN'tit? ; ....., am | right? <confirmation particle> //

These things are my problems and ....(I have a headache.l want to confirm it with you)

F:
>—h. =uh,/
bl

FADY = | + HY <subject particle> /

PADNE A D

YENENFE % U 7= = worked overseas = <plain-style-past-affirmative> of BN %5 (%) L9 g3
(work overseas) /

& E &, =[plain-style (but, ‘da’ of [na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’
respectively.)] & & = when (X) do (did, is doing, was doing, etc) ~ + (& <topic particle> /

FrEL

FF < 50\ T =in about half a year /

ﬁ%fﬁv = living, life (one's daily existence), livelihood /

(c /

’%hi U 7z = got used to ~

&Ko =....,, you know? ; ..... | tell you. ; ....., | am convinced. //

Uh, when | worked overseas, | got used to the life in about half a year.

Wk
5. =now/

4] Z Ul
5oL @ #{ET = because of the preparations for moving (changing residence)
feWAA

KEUP»BWVWTID, = KEU»H D XHFAD =Isn't (X) awful (terrible, dreadful, horrible;

hard, difficult)?
* [na-adjective / noun] U ¥ 72\L\TT = [na-adjective / noun] U & D ¥ A =is not ~, are not
~,am not ~ , etc. //

Aren’t you in the awful situation because of the preparations for moving now?
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ANAVIIA [

A D B oHL 5T = AN D BloML & WS D i = lit: the thing called ‘moving

overseas (moving to a foreign country)’
*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
*(X) o Tor{(X) & WD D (&’ is often used before telling one’s strong opinion about (X) or

asking about (X) since you really don’t known about (X). &

AQA QA

Summary of 2T

y

fo 73 [OFS

HPESAE RE 2T =

HPSAFRE & WKL, /FAR) HRSAF IR &€ XUk, =
Mr Tanaka says that he is free. / | hear that Mr Tanaka is free.

2
M A > Bodi, =
HhSA 0S5 0 BT, =

Mr Tanaka is free. (This is my strong opinion.)

3
&
HEE>T EDATID, =
HAESA EWS DI EDATID, =
Which person is Mr Tanaka? (I really don’t know him.)

DAk Qie

T=WAA

RZTY = (X) is awful (terrible, dreadful, horrible; hard, difficult). /
& =...., you know? ; ..... | tell you. ; ..... , | am convinced. /

o =....,isN'tit? ; ....., am | right? <confirmation particle> //

Moving overseas is very tough, isn’t it?

M:
S ho =Yes,itis. //

. =you might say /

[ Z

528U @ 1E5 & = moving side + & <topic particle> — regarding moving among many
preparations
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* &> =1 direction, way, side, area (in a particular direction) 2 indicates one side of a
comparison /

%%f«i = trader, merchant, vendor, manufacturer, contractor + (C <recipient particle> /

i?*e“‘c 3 % = <plain-style-nonpast-affirmative> of (£ T % D £ 9 = entrusted (a task) to (a
person) and the sate is still ongoing, left (the matter) to (a person) and the state is still ongoing
* Tﬂ?ﬁi@“ g2 = entrust (e.g. a task) to another, to leave to

* [te-form] 6 D ¥9 = be ~, (X) did ~ intentionally and the state resulting out of the action still

remains <used to describe the state which results as a consequence of an action intentionally
done by someone> /
M5, =because ~/

R ED 72 B = <plain-style-nonpast-affirmative> of 7& A & D™ 72D £ 9 g1 = be able to manage

somehow or another, (X)come out all right /
&Ko =...., you know? ; ..... [ tell you. ; ....., | am convinced. //

You might say, because | have left the preparations for moving to the mover, it will come out all
right.

5 5D ??% H(d = a child in my house — my child + (& <topic particle> /

?JJ(V)\ = at first, in the beginning, at the start /

r'] 2D 7;7]3;0) ﬁ%i = school’s lessons over there + |C <arrival particle>

DVWT WIFERLKT=2oWT WIFFXRERFATUT . £#ULT. =couldn’t follow and ...

*DWLWT WFE T =can follow, be able to follow = potential-verb of DLW T WE X9 g1 (follow)
* [nai-form 72\ — 72 < T] = A [nai-form 72U\ — 9 (I2)] = don’t do ~ and ... <used to join
sentences>/ don’t do ~ and therefore <used to show a reason>

Y LI@WT =879 (I), not LT (I2)

* [nai-form 2L\ — 72\ T] = O [nai-form 7L\ — 9 (IT)] = without doing ~

ﬁwl:f;im? =9 (I2), not L (I2)/ s

KZ 2 - fc = <plain-style-past-affirmative> of XZ T9 = (X) is awful (terrible, dreadful, horrible;

hard, difficult).
AT =[plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] L T9 =...... |

wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really
want to say so ; because ...... — A can be changed to @. /
&Ko =...., you know? ; ..... | tell you. ; ..... , | am convinced. //
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My child couldn’t follow the school’s lessons there at first and we had a hard time.

M:

&bdH. =Ah,/

Z 1 & =that + (& <topic particle> /
1F<

#H =lalso/

LAEL

DL U T /e = (0t LT LWz = was worrying = <plain-style-past-affirmative> of ECLU TWEX T

(be worrying)
*IDEE U X9 g3 = worry

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

* k12 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] L T9'=...... , | wonder ; ...... , | doubt ; ....., | want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. /
[7E. =1but 2 <used to show a hesitation> /

Wb
=\, =1 fortunately 2 happiness, joy, gladness; blessedness /
Z5Z5 D&>
Z -5 D ERO FIC = the dormitory of a senior high school of this direction (this side) — the
dormitory of the senior high school here (in Japan) /
[=4A

AND & T ao>T=ANd Z& I Eofce #ULT. =It has been decided that (X) can

enter and ......
* AN Z & T 1@ o7 = It has been decided that (X) can enter = <plain-style-past-affirmative>

of AN Z & (T 7D FTJ =It will be decided that (X) can enter

* AN1% = <plain-style-nonpast-affirmative> of A11 & 9 (can enter, be able to enter) which is
the potential-verb of A D ¥9 g1 (enter)

* [dictionary-form / nai-from] Z & T 7D £ 9 = It will be decided that ~, it has been decided
that ~ /

Ro =....,isn’tit?; ..... , am | right? <confirmation particle> /

Ah, | also was worrying about that, but it has been decided that my child can enter the dormitory
of a senior high school here (in Japan) and .... (I feel relieved. | want to confirm it with you.)

F:
ZWTI D >/ TI 1. =1see, that's good. //

ANAVIA L& <& (=9/=1=3

BEHND B5 T E< I & =to work at the workplace of a foreign country
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* &) < = <plain-style-nonpast-affirmative> of )= £ 9" g1 (work)
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

2

HlcH & 5 <

FLW LH#hT E59 Z & =tolive at the new land

* 257 = <plain-style-nonpast-affirmative> of 5 U £ 9 g1 =live

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

3

[ Z U AU

5l-o# L @ #fF%E 9% I & =to prepare for moving

* 9 % = <plain-style-nonpast-affirmative> of L &9 g3 (do)

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

4
??317’& LILEILEELC %bf LW < Z & =to leave his child behind and go (to Paris)

“3 LT =79, ZLT. =leavebehindand ...

* 789 = <plain-style-nonpast-affirmative> of 7% L &£ 9" g1 (leave behind, leave over)
* L\ < = <plain-style-nonpast-affirmative> of L\E F 3 g1 (go)

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

. O& 1373

BAIE V& Ly LA & W5 FA H#D &< Rh . W

TOANSIBEEZ RS & O —FOD @AHIE Al & 27T WEI D =According to the
woman, what is the topmost charm (fascination) of taking photos? &
* ¥R % = <plain-style-nonpast-affirmative> of ¥ D £ 9 g1 (take)

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). //

Ik\,/l\.b\jj X Z =agood camera /

Y¢ We often leave out ‘%z <direct-object particle>’ when we speak.

?%o T % =#->7T L3 = <plain-style-nonpast-affirmative> of > T L X 9 (have, posses, be
holding now)

* 1%6 &9 g1 = hold, possess, carry /

Ro =....,isntit? ; ..... , am | right? <confirmation particle> //
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You have a good camera, don’t you?

Ly LA

£ ATRBE = what kind of photo /

&

&% = <plain-style-nonpast-affirmative> of #& D £9 g1 = take /

@ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘(na-adjective / noun] da’

becomes ‘na’.)] L T9'=...... , | wonder ; ...... , I doubt ; ....., | want to draw your attention ; .....
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. /
2

What kind of photo do you take, | wonder?

Rh

fAl¢H, =anything. /

K'JUK,\

@& TH. =even ascenery/
CAZRD

A¥ITH. =even a person (character, personality, man, personage) /
E_t’ %% B Dl =the thing which | feel inclined to take + (& <topic particle> /

* RIT 72 B = <plain-style-nonpast-affirmative> of K IC & D £9 g1 =be on one's mind, worry
one, care about, be bothered by, feel uneasy, be anxious, feel inclined /

Rh

fAI¢H, =anything /

(I take a picture of) anything which touches my heart, even a scenery and even a person. &

A 2<

v
BHAD Eo1fc 7|=4f¥ = the dish which | made by myself

2<
* ¥E - f= = made = <plain-style-past-affirmative> of ¥ED &9 g1 = make, create, produce /

P =(X) ¥ (Y) =(X), (Y) and so on (,etc) /

ﬁ?o) %?ﬁ = a signboard in the town /

& /DN = things like ..., or something like that ... (N2 No.61A) /

H =also/

1R HNE DN =1 very, considerably, easily, readily, fairly, quite, highly, rather 2 (not) easily, (not)
readily, be slow (in doing ~), by no means (with negative verb) /

BbHLS Ly LA

EHW BE = an interesting photo /
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(c/
73 % = <plain-style-nonpast-affirmative> of 72 D &¥9 g1 = become /
&Ko =...., you know? ; ..... | tell you. ; ..... , | am convinced. //

The dish which | made by myself and the signboard in the town or the things like these also
become quite interesting photos.

Ly LA
TEHMN>cBEIL, =the photo which was completed + (& <topic particle> /
* TEHH o fc = was completed = <plain-style-past-affirmative> of TZHH'D X9 g1 (be

completed, be finished, to be ready (e.g. to serve or eat))
1 >%—%v NT, =ontheinternet /

[oX <
fc<E&h O AIC =many people + IC <source particle> /
& P
BT 5 2% = <plain-style-nonpast-affirmative> of R T £ 52 X9 = (X) see ~ and (Y) can

receive a from (X)
* B9 sg2 = see, watch, look

* [te-form] H 5 X F 9 = (X) do ~ and (Y) can receive a favor from (X) = potential-verb of [te-
form] 5 WX T ((X) do ~ and (Y) receive a favor from (X)) /

&2 I LT % =4&5 IC LT LS =<plain-style-nonpast-affirmative> of K5 IC LT WEXT =
be making sure that ~ now

* [dictionary-from / nai-form] & 5 (C U &9 = (X make sure that he does ~ /doesn’t do ~

A T2 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] L T9'=...... , l wonder ; ...... , | doubt ; ....., | want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. //

| make sure that many people can see my completed photos on the internet. (I really want to
say so.)

| make sure that | have many people see my completed photos on the internet. (I really want to
say so.)

| make sure that | can receive a favor form many people. The favor is ‘seeing my completed
photos on the internet’. (I really want to say so.)

M:
NZo. = Really? ; Oh, | see. //

fe®
AXZDRELE 2T =AXTDELSET EWSD & = lit: the thing called ‘jolliness of
photography
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*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
*(X) o Tor{(X) & WS @ (&’ is often used before telling one’s strong opinion about (X) or

asking about (X) since you really don’t known about (X).

WBW35 72 %%\% = various moments + %z <direct-object particle> /

?%‘C = later /

%t‘% = <plain-style-nonpast-affirmative> of 7%t & 9 (can leave behind, be able to leave
behind) which is the potential-verb of 7% L £ 9 g1 (leave behind, leave over) /

ST ERBD=EWVWD T & 1RD = <plain-style-nonpast-affirmative> of & W5 & & DTT
= ndesu-style of ‘[plain-style] & W\ 5 Z & T9’ = (X) mean that ~ (N2 No.41B)

M7&, = [[plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] H'7& = ...... , | wonder? //

Does ‘Jolliness of photography’ mean ‘we can leave various moments for the future’, | wonder?

F:
S—h. ED5DR, =Uh, | am not sure about it. (lit: How is it, | wonder?) //

EWS &D, =Rather, /

%ﬁi =1 + & <topic particle> /

71X 5% =camera + Z <direct-object particle>/

T%’D KD ICBE2T, =HFD L3I rofze LT, =reached the point where (X) have

*a?gjot > [T 7% > fc = reached the point where (X) have = <plain-style-past-affirmative> of #F
D &3 IC I&D £F =reach the point where (X) have

* £ D = <plain-style-nonpast-affirmative> of 5 &£ 9 g1 = have, hold, carry

* [dictionary-form] & 5 (T 7& D £ 9 = reach the point where (X) do ~

* [nai-form 7L — 72 <] 7& D £9 = reach the point where (X) don’t do ~

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

Egﬁjﬁd)% = flowers on the roadside /

EhN = among other things, such things as, or something like that /

%%)J&:b“ n o i’ﬁ = the sky after the rain /

& H\. =among other things, such things as, or something like that /

WE
% & T = until now, so far, up to the present /
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#H 7
BB UT Wk &5 4 = adjectival usage of RiB LT LWz K5 T (it looks like that (X)

was overlooking
* BB LT Lo = was overlooking = <plain-style-past-affirmative> of B8 LT WX T (be

overlooking now)
*Bi@ UE 9 g1 =overlook, let go by, let pass, miss

* [te-form] L E 9 = 1 be doing now 2 <situation, state> 3 <habitual repeated action>

* [plain-style (but, ‘da’ of {na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively)]
& S T9 = (According my academic analysis, ) it looks like that ~ /

5 4&>& Ufc 2 & [T B =asmall thing, a trivial thing + I <recipient particle> + & (also) /
%75: = eye + %z <direct-object particle> /

FE] 7% &> IC 7& > fc =reached the point where (X) turn towards = <plain-style-past-
affirmative> of A7 % &5 IC 7D £ (reach the point where (X) turn towards)

* [\lF % = <plain-style-nonpast-affirmative> of [ (F & 9 g2 = turn towards; point, direct

* [dictionary-form] & 3 IC 78D £9 = reach the point where (X) do ~ * [nai-form &L\ — 72 <]
72D £ 9 =reach the point where (X) don’t do ~

D, = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] A TI ' =...... , | wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., |

want to emphasize ; ....., | really want to say so ; because ...... I

Rather, | reached the point where | have a camera, and then | reached the point where | turn
towards small things which looks like that | overlooked until now. (I really want to say so.)

M:
~NZ. =Really? ; Oh, | see /
Z D7R AT, = <plain-style-nonpast-affirmative> of % 3 7% A, T H* = ndesu-style of 5 TIH

= | see. (I really want to say so.)
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =...... , | wonder ; ...... :

| doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... , | really want to say so
; because ...... — A can be changed to @. //

DA ZD B8HIF T, =thanks to a camera /
XA TED = somewhat, somehow /

FWics

B\ HM = everyday + H' <subject particle> /

=D
HULK BT ET, =RULK 72T Efco £UL T, = started to became enjoyable and ....
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* 2L < > T =z = started to become enjoyable = <plain-style-past-affirmative> of 2 U <
2> T X9 = start to become enjoyable

* [stem of i-adjective] < %D £ T ; [na-adjective] IC & D £J = become [adjective]

* [noun] IC 7& D ¥ 9 = become [noun]

* [te-form] & E 9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with
the past tense,) have been doing ... so far //

Yes, thanks to a camera, my daily life started to become fun somehow and .... (I am happy).

Z1 H' =that + H' <subject particle> /
FAIT & 5T =for me, from the viewpoint of me + D <possession particle> /
fe®

NAS O ELE = jolliness of photography /
Mg, =[[plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] H'7& = ...... , | wonder? //

That is the jolliness of photography for me, | wonder.

M:
Z 25N = <plain-style> of €5 TI D =1see. ; Is that so? /

H#D &<
I XZ D fEAHlE. =the charm of photography
T T B Ly LA
HE EZEHH > TEETZ T = only the photo which was completed
* TEHH o fc = was completed = <plain-style-past-affirmative> of TZ»HD £ g1 (be

completed, be finished, to be ready (e.g. to serve or eat)) /
U 73\ = <plain-style> of ‘[na-adjective / noun] U &% D £ A’ = (X)is not ~/

A T2 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {na-adjective / noun] da’

becomes ‘na’.)] A TY ' =...... , l wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... ) |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. //
o =....,isn’tit? ; ....., am | right? <confirmation particle> //

The jolliness of photography is not only the competed photos, isn’t it? (I really want to say so.)
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iU tiZZ \A

*A(D . =inmy case, /

35
H:'.EEJ:?U\ 'O Lat = finish, completlon ready, made for, cut out + (& <topic particle> /
[ [ oF

_0)4\9'( b =ZDR EVWD X b = the feeling that (X) is secondary
M7&, = [[plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] HV7& = ...... , | wonder?

In my case, the completion is secondary, | wonder.

X >. =you might say /

LY \,\Lﬁﬁ = good photo /

¥ <direct-object particle for the potential-verb>

?;Eihé = <plain-style-nonpast-affirmative> of #x+1 & 9 (can take (a photo), be able to take (a
photo)) which is the potential-verb of #& D £ 3 g1 (take (a photo)) /

é: = ... and naturally (consequently) ~ /

ilﬂ L L = <plain-style-nonpast-affirmative> of £ L L\ T 9 = be happy (glad, pleasant) /

I7& =1but 2 <used to show a hesitation> /

Ro =....,isntit? ; ..... , am | right? <confirmation particle> /

You might say, if | can take a good photo, | am happy.

ATV —RYy I\T < D AIC %T H 5 X% Z & =the fact that (the woman) can have many

people see (her photos) on the internet / the fact that (the woman) can receive a favor from
many people. The favor is ‘seeing (her photos) on the mternet

* ET H 5 X % = <plain-style-nonpast-affirmative> of %’C HH5AFET =(X) see ~ and (Y) can

receive a from (X)
* B9 sg2 = see, watch, look

* [te-form] H 5 X F 9 = (X) do ~ and (Y) can receive a favor from (X) = potential-verb of [te-
form] 5 WX T ((X) do ~ and (Y) receive a favor from (X)) /

r\)

L hAhh =3

B % 2 LT 1§i’C ﬁﬁt"% Z & =the fact that (the woman) turn a moment into a shape

and can leave it for the future
*lc LT =JIc 9%, £ULT. =make ~ a shape and ..

* J2IC 9 % = <plain-style-nonpast-affirmative> of F2IC U i@“ = make ~ a shape
* (A) Z [stem of i-adjective] < U X, (A) Z [stem of na-adjective] (C U X = make (A)

[adjective]
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*(A) %Z [noun] IC UZE 9 = make (A) [noun]
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well.
* 7% % = <plain-style-nonpast-affirmative> of 7%t & 9 (can leave behind, be able to leave

behind) which is the potential-verb of 7% L ¥ 3 g1 (leave behind, leave over) /

fe®
"%‘0) Ll <& MR UL D I & =the fact that (the woman) can enjoy daily trivial (small,

trifling) things
* 2 L 6 % = <plain-style-nonpast-affirmative> of Z U 6 £ 9 (can enjoy, be able to enjoy) which

is the potential-verb of ZXL A& 9 g1 (enjoy) /

4
T E B Ly LA e

Rk EN -7z BEED Hinnd Z & = the fact that (the woman) can decorate a completed photo
* tH3k _EAY 5 7z = was completed = <plain-style-past-affirmative> of tH3E_EHYD £ g1 (be

completed, be finished, be ready (e.g. to serve or eat))
* ffitt % = <plain-style-nonpast-affirmative> of &fit11 & 9 (can decorate, be able to decorate)

which is the potential-verb of &fiD &3 g1 (decorate, ornament, adorn) /

ThE BEZ ULPLA BrE LrWVA 1373

B F“'C BouBEE LDHEMN FLT WE T, =Atthe electrical good store, the male
employee and the female employee are talking together. //

IFaAVESS kblc, €5 F3 & I LU, = What did they decide to do in order

to sell air conditioners?
* 555 = <plain-style-nonpast-affirmative> of 50 £9 g1 = sell

* [plain-style (but, ‘da’ of ‘[na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ becomes ‘no’.)]
eI =1 because ~, die to ~ <cause, reason> 2 in order to do ~, for (the benefit of) ~

<purpose>
* [dictionary-form / nai-form] Z & I U & 9 = decide to do ~ / decide not to do ~ //

M:

ZhE Fo2h

SED; i‘( Lc_\ = until next settlement of accounts /

Travo u—u e D J:L‘f %Z = sales of air conditioners + %Z <direct-object particle> /
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Ex
> AU =alittle more /
D
fRIEL 7=\ = <plain-style-nonpast-affirmative> of (£ L 7=\L\TJ = want to stretch (extend,

lengthen)
* [masu-form] 72L\CT9 = want to do ~

A T2 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {{na-adjective / noun] da’
becomes ‘na’.)] L T9'=...... , | wonder ; ...... , | doubt ; ....., I want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. //

H =1but 2 <used to show a hesitation> /

o =....,isntit? ; ....., am | right? <confirmation particle> /

| want to increase sales of air conditioners a little more until next settlement of accounts.

> =3 T

FEDIZBT D FIL A IF = response of sales floor + & <topic particle>

* 55 D 15 = place where things are sold, sales floor, counter (in shop), department /
E S ? =<plain-style> of £ 5T H =how is (X)?

How is the respond at the sales floor?

F:
Z 2791, =1Letme see. ; Let me think. 2 | agree with you. //

HHE

Ep <
JEIC W5 2> L3 XX A. =the customer who comes to the shop
* W5 > U ¥ % = <plain-style-nonpast-affirmative> of L\5 - U ¥ LN& 9 (come, go, stay) which
= A
is the special-deferential-verb of €& 3 g3 (come), TTE X9 g1 (go), L\K T sg2 (stay) /

B

X A, = everybody, everyone /
5N 3

IR (S = lately, recently, nowadays, in recent times + |d <topic particle> /

%Efi(?f; m%teﬁ = wasteful (using more than is required, extravagant) expenditure (disbursement,
expense, outgo, cost, payment) + [& <topic particle> /

?fﬁi 72 L\ = <plain-style-nonpast-affirmative> of ?fﬁi W\ T9 = want to suppress /

& <quotation particle> /

&> U»WEXT = special-deferential-verb of %L\ 9 g1 (say)/

o =....,isn’tit? ; ....., am | right? <confirmation particle> /

All customers who come to the shop say lately that they want to reduce the unnecessary
expenditure.
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WZEWBED, =not very good, | see. //

RMED, =1 very, considerably, easily, readily, fairly, quite, highly, rather 2 (not) easily, (not)
readily, be slow (in doing ~), by no means (with negative verb) /

We hardly get a good result.

RA% —% = poster + % <direct-object particle> /

&> 7. =past ~ and do other things as well

* éjjo fc = <plain-style-past-affirmative> of éE N £ g1 (stick, paste, affix)

* [ta-form] D [ta-form] D U ¥9J =do ~, do ~ and do other things as well, do many things
§u9h as doing ~ and doing ~

ffxz.% = advertisement + & (also) /

|':le L T &7z =tried to take out = <plain-style-nonpast-affirmative> of i LT & F 9 (iry to take

out)

*H U %9 g1 =take out, put out

* [te- form] HFX I =try to do ~, do ~ and see how

* fzz';% t|:|' L £ 9 = put an advertisement (in the newspaper) /

AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =...... |

wonder ; ...... , I doubt ; .....,  want to draw your attention ; ....., | want to emphasize ; ....., | really
want to say so ; because ...... — A can be changed to @. /

. =1but 2 <used to show a hesitation>

We tried to put up posters and put an advertisement (in the newspapers and magazines) as
well, but .....

Z D hH =<plain-style>of #5 TIH, =Isee.//

28 /46



LC=t

fEF ¥ I& = reducing the price + I& <topic particle> /

> =already /

Eé% = limit, bound; border, boundary; verge, edge /

= D Z D =with no time to spare, at the last moment; just barely /

2

Is reducing the price already almost the limit?
Can’t we reduce the price anymore?

Fhh W

ZZ. BD BHRTYT 12, = VYes, itis already the limit. (I want to confirm with you.) //

HE TZEBHD (. =other thing which (X) can do + & <topic particle> /

* T&E % = <plain-style-nonpast-affirmative> of TZ X9 sg2 =1 can do, be abletodo 2 be
ready, be completed, be finished

%LEE;T(D %ﬁ?;jﬁz = making the delivery fee free of charge

H. =or ]

EtY'O T?j‘b‘ %ﬁ%’& = installation (attachment) cost (expense) + Z <direct-object particle> /

%OIJ D ??I < = <plain-style-nonpast-affirmative> of D 5| = %9 g1 = discount /

e =or/l

The other thing which we can do is delivering for free or discounting.

M:
2 %1FE =1see. ; That's right! ; indeed /
o =....,isn’tit? ; ....., am | right? <confirmation particle> /

Th
Z 4 )\)LIEE = rival shop + (& <topic particle> /
BFWz5b&>5 pOHUE
fox Bl £I5] (& = discount of delivery fee + & <topic particle> /
LT W&EJ = be doing now

*LEI g3=do
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* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

HY =1but 2 <used to show a hesitation>

ﬁ;ﬁﬁ: IC = making ~ fee of charge + |C <arrival particle> /

Eié‘o"%f%o fc & Z 3% & =the place which made a bold start + (& <topic particle>

* B #HY) o = = made a bold start = <plain-style-past-affirmative> of &Y D £9 g1 (make a

bold start; take a plunge; take off) /
» D FEH A, =thereis not ~, don’t have, don’t exist //

Our competitors discount the delivery fee, but there is no shop which delivers for free.

!5 M. = <plain-style> of €5 T3 D, =Isee.:Isthat so?/

U . =if thatis the case, then/

25 & = our shop + & <topic particle> /

<1 % =that + %Z <direct-object particle> /

HT/‘%E’; IC =on alarge scale /

7E=ILU & S, =let’s appeal = volitional-form of 7 E—JL U ¥ 9 g3 = appeal /

| see, then as for our shop, let’s promote it on a large scale.

|[& = installation (of a machine or equipment) side + & <topic particle>

o X
[
S

o 3%

= 1 direction, way, side, area (in a particular direction) 2 indicates one side of a comparison

FLSLeDeES5LES

=& D T = acknowledgment (understanding, noting, acceptance) of manufacturer

(contractor, trader, merchant, vendor) /
HY = <direct-object particle> of L\D X9 g1 (need) /

L% = <plain-style-nonpast-affirmative> of L\D 3 g1 = need

M5 = because ~

o =10 =....,08NtI0t7 ;... , am | right? <confirmation particle> 7% sounds wilder. So, it is
basically used by men.

As for the installation, we need the acknowledgment of the contractor, so .....

Z[olld = this time + (& <topic particle> /
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%&%% & L&D, =let’s decide to see off, we shall decide to see off, | shall decide to see off =
volitional-form of %% & U X9 (decide to see off)

* B3X% = <plain-style-nonpast-affirmative> of BiX D £ 9 g1 = see off

* [dictionary-form] & U &9 = decide to do ~ //

Let’s see it off this time (We shall decide to see off. ; | shall decide to see off. )
— Let’s decide to wait and see it this time. (We shall decide to wait and see it this time. ; | shall

decide to wait and see it this time.)

TWOA z>Z

HmD F“i%i .':l:'.@“ (They) put an advertisement on products.

* 19" = <plain-style-nonpast-affirmative> of i U &9 g1 = take put

* &% U9 =put an advertisement (in the newspaper) /

2

BTLWOA

Bmd 1 Ex’a? _FH% (They) lower the prices of products.

* T F % = <plain-style-nonpast-affirmative> of TIFEX 9 g2 = lower /

3

C?."l,\?ﬁ &S5 N .

Box&ER%Z /o2 IC 9% = (They) make the delivery cost fee of charge
* ZH = cost, expense, price

* 9§ % = <plain-style-nonpast-affirmative> of U% 9 g3 =do

* (A) % [stem of i-adjective] < UL & T, (A) Z [stem of na-adjective] IC L ¥9J = make (A)

[adjective]
*(A) Z [noun] IC UL X9 =make (A) [noun]/

4
U;ti

o5 s} [

ZEZEMA% 10 35| < = (They) discount the installation fee.

* I& = installation (of a machine or equipment), establishment, institution
D

* &l

5] < = <plain-style-nonpast-affirmative> of D 5| Z £ 9 g1 = discount /

37

h s\
ZIAT FHim RH I\ERRICDOWT 5ELT WE T, = The critic is talking about the novelist on
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L&S5ED b L

2D NERDEEDBE BNT WB ECBE ETR & EoT WETH, = (According to
this critic,) what is the excellent point of the work of this novelist?

* %h’( L% = <plain-style-nonpast-affirmative> of 11T L\EX 9 = be excellent

* BN £ 9 g2 = surpass, outstrip, excel, exceed

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

Ny

—. =uh,/
|&. =today + (& <topic particle> /

SN
% Mo

)
NN

AT = recently, lately /
15¢% = footlight, limelight /
%\O‘T L% = be showering now
* A U'E 9 sg2 = bathe, bask in the sun, shower /

L&SED D

I\E¢ ZK. = novelist /

===

— the novelist who is spotlighted (is highlighted, is drawing attention) lately /

leiEEiEEI%O) ?’E% = the work of Yamada Ichirou

ICD WT= about ~, regarding ~, concerning ~ /

o) % L U fcL\ = <plain-style-nonpast-affirmative> of & 55 L U 7zL\ T = want to talk (speak)
*& FEL ULEXT =humble-verb of 55U ¥ 9 g1 = speak, talk

* & [masu-form] U X9 g3 = humble-verb /

t <quotation particle>

/L,\\l\i-g_o = | think //

Uh, today, | think that | would like to talk about the works of Yamada Ichirou, the novelist who is
spotlighted lately.

Z—\ =uh,/

1)320) ?’EES at his works + IC <existence particle> + (& <topic particle> /
<D EPLjJ ¥ = many charms (fascinations) + /' <subject particle> /
& D £I =there is ~, have, exist /

H. =1but 2 <used to show a hesitation>/

Z2 79 1. =1Letme see. ; Let me think. 2 | agree with you. /

F 9. =first of all, firstIyY/_m\

5 & D
Z D BWER A ~—Y —1#R%Z = that minute story composition (organization) + % <direct-
object particle> /
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%H‘ fz L\ = <plain-style-nonpast-affirmative> of Z2(F =L\ T = give (an example)
* 2 £ 9 g2 = fly; raise; give an example

* [masu-form] 72\ \T9 = want to do ~ /

& <quotation particle> /

%b\iﬁ_o = | think //

Uh, there are a lot of charms (fascinations) in his works, but let me see, first of all | want to
mention its minute story composition.

& FED

e

"
EEL D 1 =—7 & % =uniqueness of wording + % <direct-object particle> /
El hfe

BFZ 12 HH =the people who like ~ +  (also) /

&H

%W\ &5 T =it looks like that (X) is a lot

* [plain-style (but, ‘da’ of {{na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively)]
& 5 T = (According my academic analysis, ) it looks like that ~ /

[l

M. =1but 2 <used to show a hesitation>
>—h. =uh,/

Hhid. =that + (& <topic particle> /

hn

HY = he + H' <subject particle> /

runz &

AN E3E = foreign language /

[/

fch®D>

REE%R C & = the fact that (X) is proficient

HEEZR = skillful, proficient, adept, skilled, expert /
— the fact that he is proficient in foreign languages /
[C/

MAFW

B LT L\ % = <plain-style-nonpast-affirmative> of B8 LT LWE I =relate, have a

connection with
* B8R L £ 9 g3 =relate, have a connection with

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
0)'(“ L/ X 5 o =

‘[plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] ® T9'(......, | wonder ; ...... ) |
doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really want to say so ;
because ...... — (D can be changed to A)

+

‘[plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] TL & 2’ (1 Probably ....... 2 e ,
right?) //
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It looks like that there are many people who like uniqueness of his wording as well, but uh,
probably that will have a connection with the fact that he is proficiency in foreign languages.

Flc. =and, also /

%b@“ = unintentionally, spontaneously, accidentally, involuntarily, inadvertently /

ﬂj"??f .':rl:'n L %5 IC 7123 = <plain-style-nonpast-affirmative> of REH L £S5 (C mD KT = (X)
become likely to burst into laughter &

*MEH UE I g1 =spout, spurt, gush out; burst into laughter

* [masu-form] £ 5 IC 78D ¥9 = become likely to do ~ &

d1—FE7 D 72X =sense of humor /

— the sense of humor that (X) is likely to burst into laughter unintentionally /

X = (X) % (Y) = (X), (Y) and so on (, etc.) /

i—%%é% & Uiz =vivid, lively, lifelike /

7\“%%%% = depiction (description, portrayal) of characters + % (also) /

%é?“@“ = (X) is splendid (wonderful, excellent, marvelous; grand, elegant, magnificent) /
A, =1but 2 <used to show a hesitation>

P&, =as I thought, after all

f?%%%’: = reader + Z <direct-object particle> /

WL = strongly, forcefully, powerfully /

§UI XRAAT WL = <plain-style-nonpast-affirmative> of 5| Z3AA T LWE X9 = continue to draw
in

* 5| ZIAHF I g1 =draw in, win over, cause someone to agree with one's cause

* [te-form] L& E 9 = continue to do ~, keep doing ~, carry on doing ~ /

%%b)%%%l = development of a story (talk, speech)

* R = expansion, enlargement, increase, spread; development /

— the development of the story which attracts readers powerfully /

i/

|& <topic particle> /

A EH. =really, truly; very, extremely /

E’.%% A = even force (intensity, appeal, strength)

% UT UERWET, =toone’s regret, (X) feel

*B&U £ 9 sg2 = feel

* [te-form] L EWLWEF g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely * ~ te

shimaimasu — ~chaimasu*~de shimaimasu— ~jaimasu//
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And the senses of his humors that | am likely to burst into laughter unintentionally and the lively
descriptions of characters are wonderful, but, as | thought, | truly feel even force in the
development of the story which attracts readers powerfully.

ThhL
Ar—U—EBHED &t L 5 =funniness (amusing quality) of the development of the story
* R = expansion, enlargement, increase, spread; development /

N

& o
TEEL O 1 =—7% & =uniqueness of wording /

([

3

I—F 77Dt > RX =sense of humor
4

CAZRDVT&LSUL» H T E

AEED E%é = splendidness of the descriptions of characters
* B EE = splendidness, magnificence, grandeur; excellence, being of superior quality /

6%

BT V&
TLETT7FOUY—NEBOANCAYFE2—% LT WVWET, =
On TV, the announcer is interviewing the man. //

& D&
x@ALi man /
L TINELS

;\fﬁd)hﬁﬁ’( = for this year’s employment + (& <topic particle>

Ea*

* %A = 1 appointment, employment, engagement 2 use, adoption, acceptance /
2T
fil%Z = what + Z <direct-object particle> /

W5 IFA
—% = No.1, most /
Uw>UL

B LU 2L\ = <plain-style-nonpast-affirmative> of EfZ L 7=\ T9J = want to take something

seriously, want to attach importance, want to stress, place emphasis on /
& <quotation particle> /

&2 T WXT = be saying now
H <question particle> //

According to the man, what does he want to place the most emphasis on regarding this year’s

employment? &
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Z[ol(d. = this time + & <topic particle> /

‘}}bééh% = Hayashi electrical goods shop /

ITEEQEE' & A [T = Mr Tanaka + I <source particle> /

BNT WefeEF UTc, = (X) came and (Y) received a favor from (X)
* ?EI]I':LI\:'IT“ = coming, arrival, approach, advent; going

* WIe 2 & £9 = (Inferior) receive form (Superior)

* [te-form] W/ /2 & £ 9 = (X) receive a favor form (Y). The favor is ‘doing ~’. //

This time, Mr Tanaka who is from Hayashi electrical goods shop came here.
(we received a favor from Mr Tanaka who is form Hayashi electrical goods shop. The favor is
‘coming here’.)

EE; at once, immediately, promptly, without delay, right now /

& 21 U 72\ = <plain-style-nonpast-affirmative> of & 42 U 7c\L\ T3 = want to ask
*& 212 UX T = humble-verb of &1 X 9 g2 = ask, inquire

* & [masu-form] U ¥ 9 g3 = humble-verb

* [masu-form] 7=L\T9 = want to do ~

DT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® TI =...... |

wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really
want to say so ; because ...... — (D can be changed to A.

D, =1but 2 <used to show a hesitation>

Z &L LA SLP»WA TNn&S

SED FIALED FAT &, = for this year’s employment of freshman employees + (&

<topic particle>/
ED LS’ T & %Z =what kind of thing + Z <direct-object particle> /

%%ﬁé N F U fc = placed emphasis on = past-tense of Ef1 & 11FX 9 which is the passive-verb
of EfR L £ 9. However, we can use the passive-verb as the deferential-verb as well. In this
conversation, EfR S N £ 7 is used as the deferential-verb.

TU & 2H% = ‘[plain-style (but, ‘da’ in [na-adjective / noun] da’ must be omitted.)] TU & 5 AV

is more polite than the question which ends the normal polite-style, and is often used when you
question your superior.
* In this case, we basically use the plain-style right before TU & 3, however, we can use the

polite-style to be more formal.
* Actually TU & S means ‘1 Probably ....... 2 e, , right? //

| want to ask you right now, what kind of thing did you place emphasis on regarding this year’s
employment of freshman employees?
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M:
%23 T9 1 =1Let me see.;Let methink. 21 agree with you. /

nWwhh
£ (& = average (normal, ordinary) year + (& <topic particle> /

EoEL£<EW

&R % = positiveness (aggressiveness) + %z <direct-object particle> /

%T LWE 9 = be seeing now, be watching now, be looking at now

* B X9 sg2 = see, watch, look

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
A

<‘:\ U
SE(L. = this year + [& <topic particle> /

BoZEL<EL WA LY

Bl 4 LIS 6 = with the exception of positiveness (aggressiveness) + & (also)

=1 but 2 <used to show a hesitation>

Kl

b

EHRME A = with the exception of aggressiveness, except aggressiveness
TEIRIE WS H = other things as well as aggressiveness /

Up>L

BEfRULZE Uf, =placed emphasis on //

| see aggressiveness normal year, but | placed emphasis on other things as well as
aggressiveness this year.

2 W

B2 T X, = by means of only zeal (enthusiasm) + (& <topic particle> /

EHVIEHY =1 very, considerably, easily, readily, fairly, quite, highly, rather 2 (not) easily, (not)
readily, be slow (in doing ~), by no means (with negative verb) /

S2FL WEFXEA =(X)don’t go well /

M5, =because ~ //

Because the things don’t go well easily with only enthusiasm.

HLr
fil4t (X, =your company + & <topic particle> /

ANAVA &ho=

BN E D X5l = trading with foreign countries + & (also)
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* B4} = foreign country, abroad, overseas

* BX5| = dealings, business, transaction, trade, commerce, business deal /

f%i‘( L% = <plain-style-nonpast-affirmative> of 3 X T \L\&K 9 = be increasing now

*18 X £9 g1 =increase

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
& D Z& TY =[plain-style] & W5 Z & TT =1hear (heard) that ~ (N2 No.41A) /
H. =1but 2 <used to show a hesitation> /

P& D, =as | thought, after all /

HVHWIF WA 5 ©
EIRER DB = whether (X) have an experience to live overseas or not & /

* HE = yes or no, existence, flag indicator (comp), presence or absence marker /

(X) ¥ (Y) = (X), (Y) and so on (, etc.) /

EE???J%“ = language ability + 5% <subject particle> /

Bt E WS 2 TU &S =more polite than EE & WS Z & TIH, =do (X) mean that
(Y) is important?

*EEEWDS I ETYT = (X) means that (Y) is important

* [plain-style (we can omit ‘da’ of [na-adjective / noun] da’)]& W5 Z & T9 = (X) mean that ~

(N2 No.41B)
*TU & 2D =|[plain-style (but, ‘da’ in [na-adjective / noun] da’ must be omitted.)] TU & 2 H

is more polite than the question which ends the normal polite-style, and is often used when you
question your superior. * Actually TU & © means ‘1 Probably ....... 2 e , right? //

| hear that trading with foreign countries in your company is increasing, so, as | thought, are
whether or not you have an experience to live overseas, linguistic ability, etc. important?

Iila’i\ = you might say, /
ZD KD 792;-%% = the point like that + % (also) /
9&%3?3‘ = (X) is important /
1but 2 <used to show a hesitation>
# %7 = even after joining the company /
hETEET, = can educate, be able to educate = potential-verb of #E U £ 9 g3 (educate) //

You might say, the points like those are important, but we can educate them even after joining
our company.

HAED

HZETIE. = at the interview + I& <topic particle> /
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H>& =more/

%ﬁd) %’a’: = another aspect + % <direct-object particle> /

* Bl = distinction, difference, different, another, particular, separate, extra, exception

* M| = 1 face, mask, face guard 2 surface (esp. a geometrical surface) 3 aspect, facet, side

P
B F U7z, =saw, watched, looked //

At the interview, | looked at another aspect more.

fe&

Bl Z (L. = for example /

ELe) O

D @ A& =with surrounding people /

L&59

LRI = skillfully /

X a2Z7—2 3 Y TES =<plain-style-nonpast-affirmative> of 1T 2 =7 —> 3> TEXT
= can communicate, be able to communicate = potential-verb of X2 =7 —> 3> UL&X9 g3

(communicate) /
H £ S H = part of indirect-question — [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’

must be omitted)] H* £ S H* = whether ~ or not, if ~ or not <indirect-question>
T9, =is (are, am, etc) //

For example, (I saw) whether they can communicate with surrounding people skillfully or not.

Elf%h 1_::_?_\ (X<

R D #H WL AIE = recent young people /

L&<iE

B35 (T = workplace + (T <arrival particle> /

> &

FT 5 #2(1F % = <plain-style-nonpast-affirmative> of ¥ 5f#(} £ 9 g2 = open one's heart, throw off

reserve, be frank, show kindness /
D I< = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M Ic =1 although ~, in

spite of ~ 2in order to ~ /

ﬁ%hfa%b\ M3 = <plain-style-nonpast-affirmative> of FffEAY HHD X9 g1 =it takes time /
& <quotation particle> /

éﬂ%i@“ =| hear ~/

. =1but 2 <used to show a hesitation> //
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Li \/\o = YeS //

L&

=513 = work, occupation, labor, task /

F— L% =team + %Z <direct-object particle> /

ﬁ’sﬂ/u‘é‘ =fHHF£F, #ULT. =setup (assemble, make up, put together) and ....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

TS5 Z &% =to conduct, conducting + & (also) /

* 1T = <plain-style-nonpast-affirmative> of {TULNE 9" g1 = conduct, perform, do, carry out

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun).

gb\‘é‘@“ L. = (X) are many and what’s more ....

* L. =[plain-style] L. =~ and ~, because ~, ~ and what't more ~, not only ~ but also ~
<often used to list reasons> Yt We can use the polite-style right before U to be more polite. /

EL56£5F0

#58 HEHY = cooperative personality, cooperativeness, spirit of cooperation /
S D

RAIRTY, =(X)is indispensable, essential, absolutely necessary //

Regarding a work, we often set up a team and do it, and what’s more spirit of cooperation is
indispensable.

) —%—>w 7% =leadership + H (also) /

9&%3’(@“ = (X) is important /

H. =1but 2 <used to show a hesitation> /

j%o D HY = circumference, perimeter, edge, surroundings, locality, neighborhood + ' <subject
particle> /

':J‘)éb\ A b L R% = strong stress + % <direct-object particle> /

BU2 &£5TH. =BU3 &5 &5 =if it looks like that (X) feel ~

* B U % = <plain-style-nonpast-affirmative> of & U £ 9 sg2 = feel

* [plain-style (but, ‘da’ of ‘{na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively)]
& S T9 = (According my academic analysis, ) it looks like that ~

* 185 =[plain-style (but, ‘da’ of {na-adjective / noun] da’ must be omitted.)] 7% 5 = if ~

<supposition> <lIt is followed by an expression that conveys the speaker’s judgement or a
question asking for the listener’s opinion.>
* We often use TId instead of /&5 when we say something negative./

>2FL WEFX A, =don't gowell //
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A leadership is also important, but if surrounding people feel a lot of stress, (things) don’t go
well.

koW Rlcze BoFLLTE

BFEMNHD., MEICH BRI I & =the fact that (they) are enthusiastic and have a

positive attitude about everything
*»D =55, £LT. =haveand ....

* 8 % = <plain-style-nonpast-affirmative> of D £ 9 g1 (there is ~, have, exist) /

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /

N

MO &< MH W WA

SN 0. BIMEEN 575\ = the fact that (they) have a linguistic ability and have

many experiences to live overseas.
*HD =5, LT, =haveand ....

* 3 % = <plain-style-nonpast-affirmative> of ¢ D &9 g1 (there is ~, have, exist) /

il

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /

Z2LES5E5L£5EV

1mER D H D, ﬂ.t S FL Pns Z & =the fact that (they) have spirit of cooperation and

can get along with surrounding people
*$HD =H%, LT, =haveand ....

* 8 % = <plain-style-nonpast-affirmative> of & D £9 g1 (there is ~, have, exist) /

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal.
* PN 5 = <plain-style-nonpast-affirmative> of ¥ D &9 (can do, be able to do) which is the

potential-verb of D ¥9J (1 do 2 (superior) give (inferior))
* 3% < ¥ D XY =do good, perform good works /

4
& kS)
W\ —4—2 v % F-5T WS Z & =the fact that (they) have a strong leadership

75
B V& Py (7

FLETZDOAN %“@% DNEICDODWTELTWET, =
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On TV, the woman is talking about the nursing of old people.

BAKR V&
Z D A = the woman /

Eﬁ%\ﬁ%fli = the government /

%%’: = what + %Z <direct-object particle> /

%E%LC = in a priority manner, before everything else, before anything else /
IR EfZ = <plain-style-nonpast-affirmative> of 3/XE T9 = should do ~

* [dictionary-form] XETYJ =shoulddo ~ Y 9§25 NRETIT S I RETY
& <quotation particle> /

%9’( WZE 9 = be saying now /

HY <question particle> //

According to the woman, what should the government do above all?

Lol AWAS 5&5&

BD $AEIC &% &. =according to the government’s investigation
* SE = investigation, examination, inquiry, enquiry, survey /

i) \«\_E‘ . . . . .

NEEDY = nursing + 1Y <subject particle> /

U\DJ(’B _ tiE@/KQ _

WE(C 13> 12 IFEIT = when (X) became necessary

* 7& o fc = became = <plain-style-past-affirmative> of 72 D £J g1 (become)

* [plain-style (but, ‘da’ of {na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
= when (X) do / don’t do / etc ~, if (X) do /don’t do / etc ~

73 L\ c

T D "% = nursing at one’s own home + %Z <direct-object particle> /

* M §
d\}A Db

G
Ji

3‘% <plain-style-nonpast-affirmative> of %% L £ 9 g3 = hope, wish, anticipate, expect /

o
= g

éti\ = old people + (& <topic particle>/

=t

e old person who hopes for nursing at his own home + (& <topic particle> /

I:\S:-

O S —+

%Z = sixty percents + Z <direct-object particle> /
% = <plain-style-nonpast-affirmative> of # 2 &£ 9" g2 = cross over, cross, pass through,

(out of) /
= [plain-style] > T9 =1 hear that ~, | heard that ~ //

S

AN ol | m
Jire

r\lo

\QJrCD

According to then government’s investigation, | hear that the old people who wish for nursing at
their own homes when they need nursing exceed sixty percents.

42 /46



Liw>57< s <
IND 7 7)) —1EEAN D HED = reconstruction of the housing of an impediment removal (lit.

barrier free) + H' <subject particle> /

i%i‘( W5 D = the fact that (X) is increasing

* 18 X T L\ % = <plain-style-nonpast-affirmative> of ¥ X T L\&K 9" = be increasing now

*I8 X F£9 g1 =increase

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

B, =also/

&6’% ’%hk ér?Ei:T = one’s own house that (X) got used to living in + C <particle which shows

the place where the action takes place.>
*{EH BTz = got used to living in = <plain-style-past-affirmative> of £ 11 % 9 = get used
to living in
* [masu-form] #11F 9 = get used to doing ~ /
sLhD
&% = life + Z <direct-object particle> /
55 7= L\ = <plain-style-nonpast-affirmative> of #tlJ 72 \\ T3 = want to continue
* [masu-form] 72\ \T9 = want to do ~ /
H5D
& WS Z & D FN = embodiment (manifestation, materialization, materialization, expression,

indication) of the fact that ~
*~ & WS Z & =the fact that ~
— the embodiment of the fact that (X) want to continue his life in his own house which he got

used to living in /
TU & 2, =[plain-style (‘da’in [na-adjective / noun] da’ becomes ‘na’)] TL & 3 =1

Probably ....... 2 , right? //
The fact that the reconstructions of the residents of an impediment removal are also increasing

will be probably the embodiment of the fact that they want to continue their lives in their own
houses which they got used to living in.

TIN5, =therefore/

=< N L\_ ey . B .

EET O NE&EY—E X% = nursing service at home
w502

FEIE, =FEIET T =FESIETEI, £LT. =make ~ fullness and ....
* FFE I B £ 9 = make ~ fullness (enrichment) = causative-verb of 783 L £ 9 g3 (be full of)
* 75 = fullness, completion, perfection, substantiality, enrichment

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more

formal. /
HAULA

ZHhULT =L UEYT, #LT. =feelrelived (feel at ease) and ....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

UE£1 ﬁm@o . #g?%? . . . .

BET £5EN TZ 3% RIE = the environment that (X) can live in his own house
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* TZ % =can do, be able to do = potential-verb of L &3 g3 (do) /

— the environment that (X) can live in his own house with peace of mind /

%Z <direct-object particle> /

?’E % Z &%. =to make, making + %Z <direct-object particle>

* % = <plain-style-nonpast-affirmative> of fE £9 g1 = make, create, produce
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

Eﬁfﬁ% = government /

I/

Eé < = strongly /

@3’5?6’% fz L\ = <plain-style-nonpast-affirmative> of 2 7 L\TJ = want to wish (desire)
& <quotation particle> /

b
==

/L\,\\l\ig_o = | think //

Therefore, | think that | strongly wish to the government that we enrich the nursing service at

home and make the environment that we can live at our own houses with peace of mind. &

55 A, =of course /

;\l\b\?%bbtﬁﬁéé% = nursing institution (facility) + Z <direct-object particle> /

i%f’@' Z & =to increase, increasing

* 859 = <plain-style-nonpast-affirmative> of #+> L £ 9 g1 = increase, add

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /
. =(X)® (Y)=(X), (Y)and so on (, etc.) /

cLED BWES

object particle> /

5D H

m_EEE T W< Z & =to continue to elevate, continuing to elevate

* A EXE T LWL = <plain-style-nonpast-affirmative> of [ & ¥ T WLWE X9 = continue to

elevate
* [ _EE X9 = make ~ elevate = causative-verb of [M_ U £ g3 (elevate, raise; improve;

advance, progress)
t=also/

02&5
WEI(T [& 717D £J, =become necessary ¢ Here (& is used to show a contrast. //

Of course, we also need to increase nursing institutions, and continue to improve the contents
of services at the nursing institutions. (But we have some other things to do as well.)

ULHAUL. =but/
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WE
5. =now/

TS

BAFHY = government + H¥ <subject particle> /

U

fillc = what + I /

SV SEA

B8 5% T = in a priority manner, before everything else, before anything else /

& <

XD $HE NE = <plain-style-nonpast-affirmative> of BX D #2145 X Z T9 = should tackle

* XD #8E = <plain-style-nonpast-affirmative> of BXD #AX 9 g1 = tackle, wrestle with, engage

in a bout, come to grips with, make effort, strive for, deal with
* [dictionary-form] XETYJ =shoulddo ~ % §2 RETIT ST RETY/

M <question particle> /

|& <topic particle> /

Eﬁ 5 " = obvious /

Tl &\ TU & 2D = more polite than Tld &L TI H = [plain-style (but, ‘da’ of ‘[na-
adjective / noun] da’ must be omitted.)] Tl& & D £FEA hs =.....,, don’t you think so?; ....., |

want to confirm with you
*TU & 2D =|[plain-style (but, ‘da’ in [na-adjective / noun] da’ must be omitted.)] TU & 2 H

is more polite than the question which ends the normal polite-style, and is often used when you
question your superior.
* Actually TU & S means ‘1 Probably ....... 2 e, , right? //

But, ‘What should the government tackle now before everything else?’ is obvious, don’t you
think so?
— Bout, what the government should tackle now beyond everything else is obvious, don’t you

think so?

Mrwn o

5&52
NEEICDOWT O FAEZ TS Z & =toinvestigate about nursing
* 9 % = <plain-style-nonpast-affirmative> of L &9 g3 =do
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

2

%%’C D ;[\LE%*D”— EX% %%% ®% Z & =to enrich the nursing services at one’s own house
* FER I BB = <plain-style-nonpast-affirmative> of 72 & # £ 9 = make ~ fullness
(enrichment) = causative-verb of 7852 L £ 9 g3 (be full of)

* 75 = fullness, completion, perfection, substantiality, enrichment

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

S n

Z
Z IEINE % Z & =to make the number of nursing institutions increase

FW
i =

>
s
o
D]Ill(¢
XdJ
S
g2z
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* & B % = <plain-style-nonpast-affirmative> of 811 E # £ 9 = make ~ increase =
causative-verb of 3E0L £ 9 g3 (increase, add)
*'Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

4
P LED Z5U0&5

NEEMRT O H—EX%Z mLE3t% & =to enrich the services at the nursing institution
* [ k&% = <plain-style-nonpast-affirmative> of [_EZ £ 9 = make ~ elevate =
causative-verb of [@_E U £ 9 g3 (elevate, raise; improve; advance, progress)

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /
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